CURVATURE - ANSWERS

For each of the following curves, find the curvature at the indicated value for t. Also,

state the radius of the best fitting circle at this point (circle radius =r =
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3. F(t)=(2+3t)i +(1+4t)], 0<t<2, t=1

F(t)=3i +4]
[F'(t)] =v3* + 4% =5
M) _3p 4:
IFo| 5 57
T'(t)=0i +0j=0
rol

Ir®l
K(1)=0
circle radius =

T(t)=

4, Ft)=ti+t?], —2<t<2,t=1

F'(t)=1+(2t)]

|7 )] =v1+4t?

Y 1 o~ 2 -

T) = 5= i+ i
F®)| Viraz  1+ar?
4t - 2 -
T'(t) =
® 1+ 4t?)¥? ' 1+ 4t?)%? J
-4 2 -

T'(1)=537| +5371

= 8,4 20_ |4 _2
rol= o 4= 2= 22

F@)=i+2]

@] =vr’+2° =B
T 25 2

1) = e

O rw)] ~V5 546

5.5

circle radius ZT



5. F(t)=sinti+tj, 0<t<2r,t=7x
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